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The goal for a TV station was to h
n
News. Is it reasonable to say that the TV station reat

| goal? Explain.

Television Shows
- 2 986 viewers
| = 3.589 viewers
| 3 472 viewers

Hassan spent AED 80 at the suParmarl-cet.

He bought AED 30 worth of vegetables.

money on steaks.

He spent the rest of the
cost the same amount,

N if he bought 10 steaks and they each
: what was the price ufs:aach_steak?
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reading a book every 3 days-

Fatima finis hes s

| How many days does it take her to read 2 b
!

.| complete the table to solve.

it Days

So, it takes her days to read 5 books. ~_.
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F_F‘ﬂ f’;r';._;.- waork when answering these questions.
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___.._fﬁ;;_tu find the unknown.
|

| 6.032+2.469 = I

et

| —

+
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| The unknown is
[ AT
L.___,_._—-

R —
Subtract to find the unknown.

5.005-4,687=1

-

Tl |

The unknown is .




| gxerciso 7

25 20

15

[ =

A 25=-15=10
Bl 255 =5
XE il 2(]4'5:4_-
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B 20+ 2= 110
| 1| 20+5 =4

—
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I| 14 ]I
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/ ] 20+ 4 =5 ~
b Lot -

/ - 7y I-E'%.-;__ﬁq; "?_1_!_4 ﬁ —
IS
B | 8x3=24; 24 +3=8§
C |Bx3=24; 29 —-8=]¢

et

Wfﬂﬂ a ralated muiﬂplinatmn fact.
e e A ek A A
##f###ﬂ
Fod =i,
2x7 =14
ﬂ 2% 6=12
o 2+7.=9
| Multiply.
10
,* o
17
f . |
'_A__l 17 |
B |70
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I , w_ritg a multiplication sentence.

[ | OO | OO OO

| | .
|[ 10 fll Y

i ‘!_A [ax2=8

/7 ' Amani bought 5 pairs of shoes and 7 purses.
How many different shoes and purse combinations can

Amani make?

12
l_A 21

B | 28

Find the unknown. |
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/\ Which of the following is the estimated sum of 206 tand 317 o the
|

nearest hund ru-:l'?

A T 600
B | 580
¢ | 500 L e

dwlnhua

::rrr.lamd 13 5 cahas and. 2 'i 5 san

-
H—F;
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The school prinr.ipal
How many cnlms and sandwiches were ordered in all_'? o e

A SD

B | 340

C | 350 | i

S ——————

| Eind the difference.

| f Khadeej

muc

rs. About how

a received a bill of AED 147 for car repai
D 1017

h was the oil change if the other repairs were AE

A

AED 30

AED 50

e

AED 300

; 5

B
C

Compare.

638—2,425 O 2,300
> | \1
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| Which represents the number two thousand. ’_"‘t_y L
1. [ A T"_ n'n-u s

| Which number is less than 9,425 .

Lisy |

J
i e

i T ' ¢ he Commutative
: ,'I Which number sentence is an example of the Co
II L] |

| Property?
J . I__. .r
34+0=34

} Which pattern shows 1 00 more?

A [1,438; 1,448; 1,458; 1,468
B |1,738; 1,638; 1,538: 1,438 |
(¢ | 1,438; 1,538; 1,638; 1,738




